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7.  What is the high powered money? Explain the process

" of credit creation by commercial banks.

I R W a7 T 27 Wm%ﬁmwm?ﬁ
i & e Eifsw

(2500)

[This question baper contains 6 printed pages.]

/o DEC mz Your Roll No.

Sr. No. of Question Paper : 3474

Unique Paper Code © 062274301
Name of the Paper i Principles of Macroecono
I
Name of the Course : BA (Prog.)
Semester !
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

L. Write your Rol] No. on the top immediately on receipt
of this question paper.

2. Answer any five questions. AlJ questions are divided
into sections, A and B. Attempt any five questions
out of 7 questions from each of the sections.
Section A has short answer questions and each
carries 5 marks whereas Section B contains long
answer questions and each carries 10 marks.

3.  Answers may be written either in English or Hindi;
but the same medium should be ysed throughout the

paper.
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SECTION-A (@S )

What is business cycle? How does the unemployment
rate behave over the course of business cycle?

Explain.
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Prove that:— Spvt + Sgovt — CA = 1

(Where; Spvt, Sgovt, CA, and I are Private saving,
Government saving, Current account and investment

respectively)

3474 5

e X o - P o ¥ o R AR A
ﬁ%mﬁﬁ%a&@ﬁma@aﬁ%lﬁqﬁaﬁ%a
m%@rmwﬁzﬁsﬂ?mﬁﬁl

The inclusion of taxes that flattens the aggregate

demand curve and reduces the multiplier. Explain.
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What is the budget surplus? Explain why an increase
in government purchases will reduce the budget

surplus.
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Explain the money market equilibrium. Explain the
mechanism of how a decrease in money supply affect

the rate of interest in the money market.
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What moveg the €conomy toward equilibrium when
the unintended inventory change ig positive? And
negative?

wmfwa@naﬁﬁgwaﬂaﬁrﬁm%mmﬁm
W%W?W?ﬁmé?

The size of the multiplier varjeg directly with the size
of the marginal Propensity to consume. Do yoy agree
with this statement? Explain,
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6. What are the determinants of exports and imports?
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7. What is the relationship betweeh bond price and the

interest rate?
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SECTION-B (&S ¥)

1. Explain the major macroeconomic issues.
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5. Explain the steps involved in the estimation of GDP

by income approach.
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3. Explain why the gaving curve slopes upward and
investment curve slopes downward in the saving-
investment diagraml. Give two examples of the changes

that would shift the saving Curve to the right.



